Type of Cha	arge: <u>Dis</u>	connection Charge	
1. Field Ex	pense:		
A.	Materials (Itemize)		
			\$
B.	Labor (Time and W	age)	
	<u>1 hour @ \$19.2</u>	20/ hr	19.20
	Total Field Expe	nse	\$
	·		
2. Clerical	and Office Expense	•	
A.	Supplies (Pa	per, copier, Forms, etc.)	\$ <u>1.50</u>
B.	Labor (<u>1/4</u>	hour @ \$14.50/ hr)	3.62
	Total Clerical an	d Office Expense	\$
3. Miscella	neous Expense		
A.	Transportation (1		\$ <u>6.70</u>
B.	Other (Itemize)	2 \$0.67/mile	
	Total Miscellane	ous Expense	\$
Tota	I Nonrecurring Ch	arge Expense	\$ <u>31.02</u>

Type of Ch	narge: <u>N</u>	leter Relocation	
1. Field E	xpense:		
A.	Materials (Itemiz	e)	
			\$
В.	Labor (Time and	Wage)	
	Hire Contra	ctor @ \$25 / Hr	
	Total Field Exր	pense	\$
2. Clerica	and Office Expens	se	
A.	Supplies (F	Paper, copier, Forms, etc.)	\$
В.	Labor (<u>1</u>	/2 hour @ \$14.50/ hr)	
	Total Clerical	and Office Expense	\$
3. Miscell	aneous Expense		
A.	Transportation	(10 miles round trip	\$
В.	Other (Itemize)	@ \$0.67/mile	
	Total Miscella	neous Expense	<u> </u>
Tot	al Nonrecurring C	Charge Expense	\$_Actual Cost_

Type of Ch	arge:	Meter Service Damage	
1. Field Ex	pense:		
A.	Materials (Ite	emize)	
			\$
B.	Labor (Time	and Wage)	
	Hire co	ntractor @ \$25/hr	
	Total Field	Expense	\$
2. Clerical	and Office Exp	pense	
A.	Supplies	(Paper, copier, Forms, etc.)	\$
B.	Labor	(1/4 hour @ \$14.50/ hr)	
	Total Cleric	al and Office Expense	\$
3. Miscella	neous Expens	e	
A.	Transportati	on (10 miles round trip @ \$0.67/mile	\$
В.	Other (Itemiz	•	
	Total Misce	ellaneous Expense	\$
Tota	I Nonrecurrin	g Charge Expense	\$ Actual Cost

Type of Ch	arge:	Meter Test Charge	
1. Field Ex	pense:		
A.	Materials (Iter		
			\$
B.	Labor (Time a	nd Wage)	
	3 hour @ \$	\$19.20/ hr	<u>57.60</u>
	Total Field E	Expense	\$
2. Clerical	and Office Exp	ense	
A.	Supplies	(Paper, copier, Forms, etc.)	\$_2.50
B.	Labor	(1/4 hour @ \$14.50/ hr)	3.62
	Total Clerica	al and Office Expense	\$
3. Miscella	neous Expense	e	
A.	Transportation	on (10 miles round trip	\$ <u>6.70</u>
B.	Other (Itemize	@ \$0.67/mile e)	
	Total Miscel	llaneous Expense	\$
Tota	l Nonrecurring	g Charge Expense	\$ <u>70.42</u>

Type of Ch	arge:	Meter Turn on Charge		
1. Field Ex	pense:			
A.	Materials (Materials (Itemize)		
			\$	
B.	Labor (Time	e and Wage)		
	<u>1 hour @</u>	② \$19.20/ hr	<u>19.20</u>	
	Total Field	d Expense	\$	
2. Clerical	and Office Ex	kpense		
A.	Supplies	(Paper, copier, Forms, etc.)	\$ <u>1.50</u>	
B.	Labor	(1/2 hour @ \$14.50/ hr)	_7.25	
	Total Cler	ical and Office Expense	\$	
3. Miscella	neous Expen	se		
A. Transportation (10 miles round trip		\$ <u>6.70</u>		
B.	Other (Item	@ \$0.67/mile ize)		
	Total Misc	ellaneous Expense	\$	
Tota	ıl Nonrecurri	ng Charge Expense	\$ <u>34.65</u>	

Type of Cha	arge:Meter Connection Charg	ge_(after hours)
1. Field Ex	pense:	
A.	Materials (Itemize)	
		\$
B.	Labor (Time and Wage)	
	Contractor 2 hours @ \$25/ hr	50.00
	Total Field Expense	\$
2. Clerical	and Office Expense	
A.	Supplies (Paper, copier, Forms, e	tc.) \$ <u>1.50</u>
B.	Labor (<u>1/4 hour @ \$14.50/ hr)</u>	3.62
	Total Clerical and Office Expense	\$
3. Miscella	neous Expense	
A.	Transportation (10 miles round trip @ \$0.67/mile	\$ <u>6.70</u>
B.	Other (Itemize)	
	Total Miscellaneous Expense	\$
Tota	I Nonrecurring Charge Expense	\$ <u>61.82</u>

Type of Ch	arge:	Meter Reconnection Charge	
1. Field Ex	rpense:		
A.	Materials (Itemize)	
			\$
B.	Labor (Time	e and Wage)	
	<u>1 hour @</u>	② \$19.20/ hr	19.20
	Total Field	d Expense	<u>\$</u>
2. Clerical	and Office Ex	rpense	
A.	Supplies	(Paper, copier, Forms, etc.)	\$ <u>1.50</u>
B.	Labor	(1/4 hour @ \$14.50/ hr)	_3.62
	Total Cler	ical and Office Expense	\$
3. Miscella	neous Expen	se	
A.	Transporta	tion (10 miles round trip @ \$0.67/mile	\$ <u>6.70</u>
B.	Other (Item		
	Total Misc	ellaneous Expense	\$ <u>6.70</u>
Tota	al Nonrecurri	ng Charge Expense	\$ <u>31.02</u>

Type of Ch	arge:	Returned check charge	
1. Field Ex	pense:		
A.	Materials (It	emize)	
			\$
B.	Labor (Time	and Wage)	
	1 hour @	\$15.50/ hr	
	Total Field	Expense	\$
2. Clerical	and Office Ex	pense	
A.	Supplies	(Paper, copier, Forms, etc.)	\$ <u>2.50</u>
B.	Labor	(1 hour @ \$14.50/ hr)	14.50
	Total Cleric	cal and Office Expense	\$
3. Miscella	neous Expens	Se	
A.	Transportat	ion (10 miles round trip @ \$0.67/mile	\$
B.	Other (Itemiz	•	
	Bank Fee	9	
	Total Misce	ellaneous Expense	\$
Tota	ıl Nonrecurrir	ng Charge Expense	<u>\$_17.00</u>

Type of Charge:	Service Call investigation Cha	rge (after hours)
1. Field Expense:		
A. Materials	(Itemize)	
		\$
B. Labor (Ti	me and Wage)	
<u>2 hour</u>	(Contractor) @ \$25.00/ hr	50.00
Total Fie	eld Expense	\$
2. Clerical and Office	Expense	
A. Supplies	(Paper, copier, Forms, etc.)	\$ <u>1.50</u>
B. Labor	(1/2 hour @ \$14.50/ hr)	7.25
Total Cle	erical and Office Expense	\$
3. Miscellaneous Expe	ense	
A. Transpor	tation (10 miles round trip @ \$0.67/mile	\$ <u>6.70</u>
B. Other (Ite	•	
Total Mi	scellaneous Expense	\$
Total Nonrecu	ring Charge Expense	\$ 65.45

Type of Ch	arge:	Service Call Charge	
1. Field Ex	pense:		
A.	Materials (Item	ize)	
			\$
B.	Labor (Time and	d Wage)	
	<u>1 hour @ \$</u>	19.20/ hr	19.20
	Total Field Ex	rpense	\$
2. Clerical	and Office Expe	nse	
A.	Supplies (Paper, copier, Forms, etc.)	\$ <u>1.50</u>
B.	Labor (1/2 hour @ \$14.50/ hr)	7.25
	Total Clerical	and Office Expense	\$
3. Miscella	neous Expense		
A.	Transportation	1 (10 miles round trip	\$ <u>6.70</u>
B.	Other (Itemize)	@ \$0.67/mile	
	Total Miscella	aneous Expense	\$
19 Tot a	al Nonrecurring	Charge Expense	<u>\$ 34.65</u>